
KTM RC8/ RC8R
FRAME SLIDERS (design v2)

satoracing.com

[L]

SLIDER BASE M8 GOLD

SPLIT WASHER M8

SOCKET HEAD M8×70

SET SCREW M6x6
SLIDER BASE [R]

SLIDER PUCK REV-L

SLIDER BASE M8 GOLD

SPLIT WASHER M8

SET SCREW M6x6

SLIDER BASE [L]

[R]

SOCKET HEAD
M10×80 P1.5 (Qty:2)

COLLAR 50 (Qty:2)

COLLAR 40

SLIDER PUCK REV-L

SOCKET HEAD M8×70

COLLAR 50 (Qty:2)

COLLAR 40

SOCKET HEAD
M10×80 P1.5 (Qty:2)


